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QUESTION 1

What is the correct path to verify the Overall Status of Chassis 1 | Server 3?
A. Equipment Tab > Chassis > Chassis 1 > Servers > Server 3 Status tab
B. Equipment Tab > Chassis > Chassis 1 > Servers > Server 3 General tab
C. Equipment Tab > Chassis > Chassis 1 > Servers > Server 3 FSM tab

D. Servers Tab > Chassis > Server 3 General tab

E. Status Tab > Chassis > Chassis 1 > Servers > Server 3

F. Admin Tab > Chassis > Chassis 1 > Servers > Server 3 General tab

Correct Answer: B

QUESTION 2

If the Overall Status for a Cisco UCS B-Series Blade Server indicates a failure in the Cisco UCS Manager, such as
discovery-failed, which statement is true?

A. The server shuts down.

B. The server automatically reboots reboot in 3 minutes.

C. The endpoints on that server cannot be upgraded.

D. The server is online, but the administrator cannot assign a service profile to that blade.

Correct Answer: C

QUESTION 3

Which command syntax is correct to reset the admin password when the switch is in the kickstart prompt? switch(boot)
#

A. exec -> admin-password

B. connect local-mgmt -> admin-password
C. configure terminal -> admin-password
D. connect nxos -> admin-password

E. admin-password
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Correct Answer: C

QUESTION 4

Which two virtualization technologies are used in a modern data center design? (Choose two.)
A. Storage virtualization

B. Cloud virtualization

C. Platform virtualization

D. Server virtualization

E. Application virtualization

Correct Answer:. AD

QUESTION 5

= T — — =
[l e a
g 9 r ! - | g
a ) : H
a L) s; ]
€ e @
o b i ]
[+] o i ]

O . Hr:a

S EIED = )

Refer to the exhibit. Which item does B represent?
A. mLOM

B. Rear 2.5-inch drive bays

C. PCle Riser 1

D. PCle Riser 2

E. Power Supply

Correct Answer: D
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